Ch.2 Introduction and Section 1 Study Questions

“Where In The World Do People Live?”


Name: __________________________  Date: _____________

	1.
	Replacement rate, the number of births needed to keep a population at a stable level without immigration, requires a total fertility of

	A)
	10.

	B)
	2.1.

	C)
	3.5.

	D)
	5.


	2.
	The arithmetic density of population for a country is determined by dividing the total

	A)
	population by the number of farmers.

	B)
	area of square miles by 5.

	C)
	area of the country by the population.

	D)
	population by the total area.


	3.
	The problem with using arithmetic population density to investigate the population pattern of a country is that such a density figure does not take into consideration

	A)
	annual population increases.

	B)
	internal clustering of people within the country.

	C)
	annexation of new territory.

	D)
	possible loss of territory.


	4.
	Countries with aging populations attempt to stimulate economic growth to lessen the effect of rising medical and retirement costs by

	A)
	cutting social security.

	B)
	encouraging increased birth rate.

	C)
	promoting immigration.

	D)
	promoting emigration of the elderly.


	5.
	The number of European countries at or above replacement level is:

	A)
	20.

	B)
	10.

	C)
	5.

	D)
	0.


	6.
	It has been estimated that 98 percent of Egypt's population occupies only ___ percent of the country's total area.

	A)
	10

	B)
	15

	C)
	3

	D)
	25


	7.
	The number of people per unit area of agriculturally productive land is the

	A)
	average density.

	B)
	total density.

	C)
	physiologic density.

	D)
	agricultural density.


	8.
	Switzerland's physiologic density is ____ as/than its arithmetic density.

	A)
	the same

	B)
	less

	C)
	10 times greater

	D)
	1.7 times greater


	9.
	The world's three largest population concentrations are all found on the same landmass, which is:

	A)
	North America.

	B)
	South America.

	C)
	Asia.

	D)
	Eurasia.


	10.
	Associated with the East Asian population cluster are ribbon-like extensions of dense population penetrating the interior.  These extensions represent

	A)
	volcanic areas of good soil.

	B)
	narrow regions of favorable climate.

	C)
	basins and lowlands of China's major rivers.

	D)
	areas where the Chinese Government has forced people to settle.


	11.
	About ___ percent of the world's population is concentrated in China.

	A)
	5

	B)
	10

	C)
	25

	D)
	50


	12.
	In India the greatest concentration of population is found on the

	A)
	plain of the Ganges River.

	B)
	central Deccan Plateau.

	C)
	west coast.

	D)
	foothills of the Himalayan Mountains.


	13.
	Over large parts of Bangladesh the rural population density is between _____ people per square mile.

	A)
	1000 and 2000

	B)
	2000 and 3000

	C)
	3000 and 5000

	D)
	5000 and 8000


	14.
	The European population axis is directly related to the

	A)
	orientation of Europe's coalfields.

	B)
	orientation to Europe's rivers.

	C)
	early location of Roman settlement.

	D)
	effect of two world wars.


	15.
	In comparison to Asia, the percentage of the population living in urban places in Germany and the United Kingdom is

	A)
	less than in Asia.

	B)
	about the same as in Asia.

	C)
	greater than Asia.

	D)
	declining.


	16.
	The major focus of North America's population is

	A)
	Chicago.

	B)
	California.

	C)
	the Megalopolis region.

	D)
	the South.


